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44’ 1 0.6947 | 0.7193 | 0.9657
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@)(25v3+1.7)m
@ (28V2+ 1.7)m

~&B

th T"olA CH
A

= hm 2} 5tH AH

m—ﬁ:h(
1

V3

.'.h:50><\/7§:

50:h(\/_

1 1 )
tan 30°  tan 60°

)

25 V3(m)

"~ (Eo)= (25V3 + 1.7)m

- tan 60°




18. o2 Iy 22 44%
7F30V3em? ¥ o, x o] ZH& F5h]
2},

o~

N
ofl
>
us]
(@)
10
W
o

\VARR 4
X
L

10cm

B

AABC :%Xxx 12 x sin 60° = 30 V3

:%Xxxl2><\/7§=30\/§

whA] x = 10 (cm)




@7 V3em? @ 8+3cm? ® 9+v3cm?
@ 10v3cm? ® 11+V3cm?

~&B

/B = 180° — (20° + 40°) = 120°
wabA 417k o] Yol
V3

1
%x4x7xsin120°:§x4x7x7:7\/§(cm2) o|t},




N\ N\
20. tS 1304 5.0ptAD : 5.0ptDC = 3 : 2
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= §><7><4(\/6— V2) x sin 75°
|

+3 X 4 x 22 x sin(180° — 105°)

=144+2+2V3
=16+2V3




21. t2 1389 AABC A sinx 9 ZH&?

ABED @ ABAC ©]|B 2 /x = /C
TESHBC = V152 + 82 = 17 o]t}

2HA] sinx = sinC = =3

15
17




22,

o2 17 Zo] LACB = 90° 91 A2 47+ ABC 7} ot HAH

C oA H AB o] Y& 49 &2 D, d D oA ¥ BC o Y

Z=Aol e E gF otk AB = 16, /ABC = 30° ¥ o, EC 2] do|&
Jotef gt

i

\VARR 4
0x
iy

243

~&B ~

AABG 1A sin30° = 20 = 2 wie}d] A = 8 olc}.

16
CD
AADC oA LACD = 30°°|B2 cos30° = % = ‘/75 b

CD = 4v3 °Jtt.
ADEC °JA4 £CDE = 30°°|E& sin30° = % = % wha}A
EC =2v3 o}




23. the 2 Zol WAEY Polrt 1 Q1 AU HZtulY] B

Z& | ARl (sin) | AR (cos) | BAE (tan)

45° | 0.7071 0.7071 1.0000

46° | 0.7193 0.6947 1.0355

47° | 0.7314 0.6820 1.0724

48° | 0.7431 0.6691 1.1106
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